REVISIONS
[> notes ® | v m | weevar
JWL 005 v 1714721 TLC
1. NON—IMPACT RESISTANT OPTION — .125" fwL00S v [a/7/21 | TIC
MINIMUM DSB_GLAZING MEETS UNIFORM STATIC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
SLAZING 1 NOT MPAGT RESSTANT AND.DOES
IMPA( Al
NOT MEET THE REQUIREMENTS FOR 13 GA HORiZ ANGLE\
WIND—BORNE DEBRIS REGIONS. !
2, IMPACT RESISTANT GLAZING OPTION —
IMPACT RESISTANT GLAZING SYSTEM MAY BE
INSTALLED IN INTERMEDIATE secn)ons (WTH 15 GA MIN HORIZ
OR WITHOUT DECORATIVE INSERTS). GLAZING %
SHALL BE 1/4” POLYCARBONATE. MAXIMUM wmack ] € DOOR
GLAZING DIMENSIONS SHALL BE 11” x 17°, |
FASTENED WITH A MINIMUM 48 X 1° SMS: 3X 13 GA CONTINUOUS
ALONG THE HORIZONTAL AND 2X ALONG THE WALL ANGLE i B
> SHEET 2 [ .
3, ALUMINUM FULL VIEW OPTION — ALUMINUM H 7 [Psr 5
CTION MAY REPLACE ANY 1S A M R ™~ i @Y. !
SEETION EXGEPT TOP AND. BOTIOM. PANELS. N : ' Vi
ALUMINUM FULL VIEW SECTION SHALL HAVE H o[- Lo
RAILS AND STILES OF EXTRUDED ALUMINUM /16°1-5/8" — 7 -
ALLOY 6063-T6 AND .125° MINIMUM DSB H H <
LAG SCREW AT EACH  §
GLAZING INSTALLED WITH ALUMINUM HIOLE LOCATION FOR H
RETANERS N ORDER TO MEET UNIFORM o
STATIC DESIGN PRESSURES SHOWN ON THIS WOOD SUBSTRATE. SEE e e
DRAWING. AFV PANEL SIZE IS 45.57%21.8" S R e ﬂ D i 20 GA CENTER STILE
(MAX). GLAZING IS NOT IMPACT RESISTANT - | I ()
AND DOES NOT MEET THE REQUIREMENTS FOR s W .. koh————
WIND—BORNE DEBRIS REGIONS. i di /o 0"
S L s s aagzmns— || [l =
M A S
PR TRACK BOLT AND N 5 l ,.-’
1/4-20 HEX NUT AT H B~ I
5. SUDE LOCK OR OPERATOR REQUIRED. EACH TRACK CUP : { O
6. SECTION STEEL TO HAVE THE FOLLOWING Locanon b §
MINIMUM THICKNESS: (SEE DETAIL A SHEET 3) _/ 20 GA WOOD FILLED iF ° |
421, 423 - 20 GA 11 GA TRACK CLIPS END STILE *
427, 429 — 24 GA (WELDED, BOLTED, OR 'H -
434, 436 — 25 GA : . H - N
RIVETED TO WALL l H W Iﬁ P
7. THE DESIGN OF THE SUPPORTING ANGLE) SEE NOTE 8 AND 4 ! TP Lk ———— |
RESPONSLITY OF THE PROFESSIONAL OF e i W ————1t /
RECORD FOR THE BUILDING OR STRUCTURE s(';"gﬁ 'ﬁcg’gﬁ.é’éf e | N
AND IN ACCORDANCE WITH CURRENT BUILDING
CODES FOR THE LOADS LISTED ON THIS OPERATOR — SEE NOTE 5) l I
DRAWING. Dl « Loy
8. TRACK CLPS SHALL BE LOCATED WTH l .
CENTERLINE OF BOTTOM CLIP SPACED 10° D) §
MAX FROM BOTTOM OF TRACK AND REMAINING o
TRACK CLIPS SPACED AT 24° 0.C. MAX. 5= *
SPACING BETWEEN TOP TRACK CLIP AND N .
SPLICE PLATE SHALL BE 30" 0.C. MAX. h, -i- A
9. WHEN MOUNTING TO WOOD, DOOR JAMB TO f 9 'n/,‘—.-‘
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. H [¥od /
REFER TO JAMB CONNECTION SUPPLEMENT i )=
FOR ATTACHMENT TO SUPPORTING :
STRUCTURE. NOTE:  (4) SECTION_SOLID DOOR .
SHOWN. SEE SHEET 2 FOR U-BAR § = I
LOCATIONS ON_DOORS WITH OTHER H I 1 0]
SUPERIMPOSED DESIGN PRESSURE SECTION QUANTITES, AND SEE NOTES o = 'H
LOADS ON SUPPORTING STRUCTURE OPTIONS. ﬂ | : o
MAX | boor MAX UNIFORM LOAD EACH JAMB B i 4 3 ®
DOOR | 16T (PLF) +
WIDTH =Y —
10—4] AL +226.6/-256.5 | e
) I

STATIC PRESSURE RATINGS APPROVED SIZES
MAX WIDTH: 10'—4"
DESIGN PRESSURE(PSF): +44.0/-49.8 MAX HEIGHT: 24°—1"
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 24

8

7 I

N =
- s‘O F\“\ Digitally signed "
= "E._"“_ by John Christian
2 [‘st N Voelkel
2o Date: 2021.05.03
,’ *.-' 10:06:32-05'00" THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
* . *
’l. ®eeecescccsccsccce oo \WINGS AND ALL DTHER INFORMATION HEREIN ARE THE mmmmnu’wmmmmmumnsmumm
AND INFDRMATIDI N.]NVH].E[R]NPART,HAYNDTEGBPIEIIINW MANNER DR DISCLOSED TD ANYDNE WITHOUT THE PRIDR WRITTEN CONSENT OF MAT.II'.IN. mnm.uwn:u-’
’ J C VOELKEL A mvu'ﬂnsmvmumnmmmmmnmw:m:mAmes:mmmmrmummnmmﬁms:mnrrm:spmr'cvmmmrr uvmnncmmn
, L L ‘ muﬂmm FINISH nt. nien o Chriginad. DATE mu-mn UPTION CODE 2075
e e PR E @ = e I e e | WA : T CLARK | 1714781 SSRGS siusszaagnssssaai/ece,
. I T0 500 +.006/-003 | x I UNIT OF | mremas CHECKED BN ’
133174 'Q?/ o wa s |VER 500 4008/ 008 xx + 03 | MEASIRE N J_GIaN 178721 s T-411788
o oo -
( /C eo .."é(/ ” REF_IVG TS A * 116 moes t5 | Ea A "TolaRk | v/e8/el em A Te=Te3
6\881 LXTYYY L) e“e\—' | 4 | 3 | 8 1
-
\WONAL & o
N


chris
Texas


1/4—20x9/16" TRACK BOLT
AND 1/4-20 HEX NUT

THROUGH THE SLOT IN THE
TRACK AND TRACK CLI

12 GA COMMERCIAL TOP FRAME
BRACKET WITH 13 GA ROLLER
CARRIER ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING ¢
CRIMPTITE’ SCREWS \

ADD (2) 1/4-14x7/8" SELF
DRILUNG CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGE)

2" STEEL ROLLER WITH r
5-1/8" STEM AND 7/16" 7P
PUSHNUT AT EACH ROLLER /
LOCATION. 1/4" MAX ;
BETWEEN PUSHNUT AND ]
BRACKET OR HINGE H

14 GA WIDE BODY END
HINGE TO ATTACH SECTIONS

ONE AND TWO. = o
13 GA WIDE B(I)Y END
HINGE T DETAL C

TTACH
REMAINING ssc110Ns. FOR
ALL, ATTACH WTH (4)
1/4—14x7/8" SELF DRILLING .
CRIMPTITE SCREWS 7

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4-14x7 /8" SELF
DRILLING CRIMPTITE
SCREWS:

12 GA BOTTOM BRACKET
ATTACHED WITH (5)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS, (4)
THROUGH STRUT AND BRACKET

CRIMPTITE SCRI

HALF HINGE
(2) 1/4 x 1/2°

CARRIAGE BOLTS AND
1/4" FLANGE NUTS

% J.C.VOELKEL 4
e 4

133174

-/\/—(2) 1/4.—14x7/a SELF DRILLING

ATTACH U-BARS WTH

(4) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

TI'E DRAVINGS AND ALL

\TIDN CONT/
AND INFDRMATIDI N.mvm.:mmpm,mvum!mmmmwnm
ANY OF THIS DRAVING DR INFORMATION IS INTENDED TO

\\\\ \\-
STATIC PRESSURE RATINGS APPROVED SIZES NN

MAX WIDTH: 10'—4"
DESIGN PRESSURE(PSF): +44.0/—49.8 —

(PSF): +44.0/-408) HEIGHT. 241 e w SRS VIR PE
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 24] [y oA
T FE ie [_ReF DVG__|
8 7 6 S

LOCATED AS SHOWN

(12) SECTION DOORS WITH
(13) 3" 18 GA 80 KSI U—-BARS \

(11) SECTION DOORS WITH
(12) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH:
(11) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(10) 3* 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WITH:
(9) 3" 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(8) 3° 18 GA 80 KSI U—BARS
LOCATED AS SHOWN

(6) SECTION DOORS WITH
(7) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

(5) SECTION DOORS WITH
(6) 3° 18 GA 80 KSI U—BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(5) 3° 18 GA 80 KSI U-BARS
LOCATED AS SHOWN

OTHER INFORMA! AND PROPRIET/

'ARY PROPERTY_
ANYDNE VITHOUT THE PRIDR VRITTEN

DISCLOSED T CONSENT OF OVERHEAD DOOR
DPERATE AS A LICENSE DR AUTHORIZATION TO USE IT FOR ANY PURPOSE VITHOUT THE SPECIFIC WRITTEN

rwm:mmunmmumrrsm

\TED COMPANIES.
MAT.IDN. NO nm.usun: OF
CONSENT OF I‘.IVERH DOOR

CIRPORATION.
The tGensine. The Crigial —L \JINDLBAD. DPTION CODE 2075
O by YBR[ T'Clark | 1714721  [SERIES 421/423/427/4897434/436,
- v 0/-48.9 PSF, 10'-4* MAX
TERIA e 1/8/21
/A J “I"‘"f B D- 411788
T CLARK | 4728721 G 7a  [swiew 3

1



chris
Texas


MIN 3/16" THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE

RUBBER GASKET
1/8" ANNEALED DSB GLASS (MIN)

E6OXX MIN. DLO= 5"X20

TRACK CLIP

1/4-20x9,/16"
TRACK BOLT AND
1/4—20 HEX NUT-

TRACK

OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WMITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1" 0.D. WASHER AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN
LIEV OF WELDING

MOUNTING TO STEEL DETAIL

PLASTIC FRAME

1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"X22 7/8"

(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

X - l‘ NZE%‘.DIST
PLASTIC FRAME (INSULATED
126A SCAB BRACKETS (OPTIONAL)
@ 12° SPACING SECURED TO WALL
ANGLE WITH 1/4-20 TRACK BOLT
AND 1/4-20 FLANGE NUT
3/8" si HTEN HD,
2-3/4" MIN_EMBED INTO (
AT EAH HOLE OR PAR ' VALL ANGLE FAGNS
/— """ - -~ OF HOLE LOCATION B INWARD
e . TRACK CUP
e \——INTERIOR FRAME 2, s mape
../ \. 1/4-20 HEX NUT-
! -SHEETUETAL SOREW e ‘CONCRETE MOUNTING DETAIL = ANGLE 18
!
CONTINUOUS |
WALL ANGLE: R TRACK \
" EXTERIOR -
/ \, FRAME \ e/ Nl nwe
(2) 1/4" x 7/16/ \ \ MOUNTING WALL ANGLE: 224 oo uin.
SEMI TUBULAR *,
i | \. ~ g TRACK CLP
20 THACK | J . | eou o SR T i D
BOLTS WITH NUTS™ d B ot g 1/4-20 HEX EAcH HOLE &R PAR orwots Cocanons m T
OR (2) .28" DIA TRACK A muun_m.m_nml.
RESISTANCE SPOT cuP
WELDS
DETAIL F
THE DRAVIES D aLL TTHER DWTRMATION COUT P COFTENTIAL aND FROPRITARY PROCRTY (F DVERFERD DR CORPORATION MO0 Trs AFFILATED COPANES
AND IWDRMATIO n.mvm.:mmPm,mvumzmm:nluwwnmmrummuummmwwm CORPORATION 6 DISGOSRE D
STATIC PRESSURE RATINGS APPROVED SIZES ANY 0F THIS DGAVING R NETROWTIIN 1§ INTENDED T DPERATE. S A LICENSE OR AVIWIZATION 0 USE I FLR AVY PRFIS: VITWOIT THE SPECTFIC VRITTEN CINSINT I (VERHEAN DO CORPORATIN
MAX WIDTH: 10—4" e [, e s
DESIGN PRESSURE : +44.0/-49.8 - T CLARK 0/-48.9 4
S RESSURE(PSF) /=498 X HEIGHT: 24—T° e erm PSP, 104" Max
IMPACT/CYCLIC RATED: YES MAX SECTION HEIGHT: 241 e & D- 411788
‘ \ T CLARK 4/28/21 |lowe N/A__ [smi3 o 3
B
8 7 | 1

‘\\ss,a;;,',;;'a\_.-
\ DR o


chris
Texas


	2070 411783-rA SH1
	2070 411783-rA SH2
	2070 411783-rA SH3
	2071 411784-rA SH1
	2071 411784-rA SH2
	2071 411784-rA SH3
	2072 411785-rA SH1
	2072 411785-rA SH2
	2072 411785-rA SH3
	2073 411786-rA SH1
	2073 411786-rA SH2
	2073 411786-rA SH3
	2074 411787-rA SH1
	2074 411787-rA SH2
	2074 411787-rA SH3
	2075 411788-rA SH1
	2075 411788-rA SH2
	2075 411788-rA SH3

		2021-05-03T10:06:32-0500
	John Christian Voelkel




